Get started on the quiz right away!
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What are the 4 ways we can prove A ~?
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What are the 4 ways we can prove A ~?
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What about angle-side-side (ASS)?
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Now consider
ABCA and ABCD...
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Now consider
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What about angle-side-side (ASS)?
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Now consider
ABCD...
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What are the 4 ways we can prove A ~?

SSS
SAS
AAS
ASA

The defn of A =~ depends on determining that
corresponding parts are congruent.
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What are the 4 ways we can prove A ~?

SSS
SAS
AAS
ASA

The defn of A =~ depends on determining that
corresponding parts are congruent.

What are the 4 ways we can prove A ~?

SSS
SAS
AAS
ASA

The defn of A =~ depends on determining that
a certain set of corresponding parts are
congruent.
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Definition: Congruent Polygons

Definition: Congruent Polygons

Two polygons are congruent iff all

corresponding parts are congruent.
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Definition: Congruent Polygons
Two polygons are congruent iff all

corresponding parts are congruent.

Definition: Congruent Polygons

All corresponding parts of 2 polygons are =~ iff

the polygons are congruent.
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Corresponding parts
of congruent triangles

are
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Corresponding parts
of congruent triangles

are congruent.

Corresponding parts
of congruent triangles

are congruent.
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Corresponding Parts
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Corresponding Parts
of Congruent Triangles

are congruent.

Corresponding Parts
of Congruent Triangles

are Congruent.
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Corresponding Parts

of Congruent Triangles
are Congruent.c ‘

How do we use CPCTC?

C
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How do we use CPCTC? >

...to show that certain parts of 2 A's are ~

Ny 6
frow_ BB = BC

How do we use CPCTC?

...to show that certain parts of 2 A's are ~

1) Usually start with limited information
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2) Prove the A's =~ using SSS, SAS, AAS, or ASA

How do we use CPCTC?

...to show that certain parts of 2 A's are ~

1) Usually start with limited information
2) Prove the A's =~ using SSS, SAS, AAS, or ASA

3) Identify remaining corresponding parts
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How do we use CPCTC?

...to show that certain parts of 2 A's are =~

1) Usually start with limited information
2) Prove the A's =~ using SSS, SAS, AAS, or ASA
3) Identify remaining corresponding parts

4) CPCTC = all corresponding parts are =~
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Prove: HE =~ FG
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

d=~/ @2-x)% (2-y1)"

Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

) X;tXx2 yrt+tyw
M1dpt=( 5 . 2 )
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

A :‘/2bh
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

C

o
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

y=mx+b

Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).
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Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

Analytic Geometry

Using equations (algebra) to learn
things about shapes (geometry).

ml A+mdB+mlC =180
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Analytic Geometry L
Tro
Using equations (algebra) to learn A= "1hbh 1A
things about shapes (geometry). c”
¢ T
LB /*@( d =~/ (2= (v2-y1)*
AX *\*,)
y=mx+b

ml A+ md B+mlC =180
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2x=9+y
x+y=90
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1) Pick 1 of the equations...and solve for y
2) Subst back into the other equation

3) Solve for x

4) Use known value of x to find y

5) Double-check your answer!

x+y=290

1) Pick 1 of the equations...
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x+y=90

1) Pick 1 of the equations...and solve for y

y=90-x

1) Pick 1 of the equations...and solve for y
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2x=9+y
y=90-x

2) Subst back into the other equation
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2) Subst back into the other equation
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2x=9+39£_x

-
---~
-~
n---
~m—.

2) Subst back into the other equation

2x =9+ 90 - x

Q-5

2) Subst back into the other equation
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2x=9+90 -x

3) Solve for x

99
2x=9+950-x

+X +X

3) Solve for x
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3x =99
x =33

3) Solve for x

x=33 2x=9+y
x+y=90

4) Use known value of x to find y
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4) Use known value of x to find y

\\
\\
~

4) Use known value of x to find y
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Q=33

33 90

=<
|

4) Use known value of x to find y

x=33
33+y =90

4) Use known value of x to find y

39



x =33
y =237

4) Use known value of x to find y

x =33
y =257

5) Double-check your answer!
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x=33 2x=9+y
y=357T x+y=90

5) Double-check your answer!

x=33 2x=9+y
y=357T x+y=90

5) Double-check your answer!
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x=33 2¥=9+%
y=57 3 +34 =90

5) Double-check your answer!

x=33 66=66
y=57 90 =90

5) Double-check your answer!



x=33 66=066Y
y=157 90 =90

5) Double-check your answer!

Solve this system for X and y

3x-y=-5
x-y=-1
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Solve this system for X and y

3x-y=-5
x-y=-1

(_29 _1)

Solve this system for X and y

R
-
PR
-

X-y 3x-(x+1)=-5
3x-x-1=-5
2x = -4
3X -y =-5 e x=-2 3(-2)-(-1)=-5
o S (2)-(1)=-1
6-y=- 61t s
-y = 3;-_51?/ 2
y=-l 5=
-2, -1) e
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Graph these 2 lines

3x-y=-5
x-y=-1

Graph these 2 lines

3x-y=-5
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Graph these 2 lines

3x-y=-5

x=0,y=35

L0,5)

Graph these 2 lines

3x-y=-5

x:_5/33y20

(_5/37 03
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Graph these 2 lines

3x-y=-5

Graph these 2 lines

L 3
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Graph these 2 lines

140, 1

Graph these 2 lines
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Graph these 2 lines

Graph these 2 lines

3x-y=-5
x-y=-1
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Graph these 2 lines

3x-y=-5
x-y=-1

Graph these 2 lines

3x-y=-5
x-y=-1
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Graph these 2 lines

3x-y=-5
x-y=-1

Graph these 2 lines

3x-y=-5
x-y=-1
x=-2
y=-1
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Graph these 2 lines

3x-y=-5
x-y=-1

x=-2

y=-1
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Graph these 2 lines

3x-y=-5
x-y=-1
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Graph these 2 lines

3x-y=-5
x-y=-1

The solution is the
point of intersection!

Solve the system

l6x-y=2
3x-y=-11

®

L 7 4 '
,7 h

53



Solve the system

l6x-y=2
3x-y=-11

(1, 14)

Solve the system

l6x-y=2 ----- ~y=16x-2

3x-y=-11 3x - (16x-2)=-11
3x-16x+2=-11
13x=-13
3x-y=-11 o x=1
3(1) -y =-11 B
3.y =-11 16x-y=2

y=14 [ 3x-y=-11

N 16(1) - 14=2 7

a, 14)
3(1) - 14=-11



Solve the system

3x-y=7
Ox -3y=3

Solve the system

3x-y=7 -~ y=3x-17
9x - 3y =13
Ox-33x-7)=3
Ox-9x+21=3
21 +3

oops, doesn't work!
=nho solution
—the lines don't intersect
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Solve the system

3x=2y+5
6x -4y =10

Solve the system

3x =2+ 5 ey = x5,

6x - 4/ x - 31,) = 10
6x-—6x+10=10
10=10
-10 -10
0=0
err, where did the variable go?
=same line
=infinite number of solutions
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1) If you get a value for X and y that work:

* 1 solution
* Intersection point of the 2 lines

1) If you get a value for X and y that work:

* 1 solution
* Intersection point of the 2 lines

2) If the variables disappear leaving 0 = O:

* Infinite # of solutions
* Equations represent same line
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1) If you get a value for X and y that work:

* 1 solution
* Intersection point of the 2 lines

2) If the variables disappear leaving 0 = O:

* Infinite # of solutions
* Equations represent same line

3) If you get false result (i.e. 3 =7)
* No solutions
* The lines don't intersect

L 4-4 HW Problems

Pg 204 #1-4,7-13, 15, 19, 21, 28-36

Pg 209 #1-9
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